SLIDE CYLINDER

NF-16, 20, 25, 30

B £Z! (Character)

L-& SUPPORT PLATE /1= 2 F| &2 oA
Stability at mount by L-type support plate

0= 0|5 E42] 2 - 710|= + 1 - m|AE 2= EIR|O| W5IEE £210|= A2l

Table moving type 2 - guide + high load slide cylinder of 1 piston rod type

Air Port7} B2 Plateo]| $1%[510f 0127+ ok
Side space-saving through air port located one side plate

Air PortS 7|70 MIA| SA1I80 OJ5HIA|2
Take note direction in case of attaching sensor based on air port

IME 0|58 B-TYPE (BALL BUSH AlZ)zt AX| A0l
N-TYPE(DU DRY BUSH A}2])0]| 210{ MEH A}20]| 1=
Possible to choose high precision B-type (BALL BUSH]
and economical N-type (DU DRY BUSH)

B dic| 0|53 32 = A2l ( Body transfer type, 3 rod )

MEZE =Zg|Q|
AlBIE i ( Support Frame )
=T -
(Cylinder body) L8 7Z2 o8y &=
high stability at mount by
HHAZE XMe|E dF0|se= L-type support plate
created aluminum alloy
with anodized

IAE BE

( Piston rod )

AE EF ¢okE

in polished, hard chrome
round bar

MAISIZ]
( Positioning of Sensor )
D} IM[E] MM S5}

for magnetic field sensor

AEH Jlo|E 2E
( Stopper) ( Guide rod )
WHTHE gxz| plots
adjust the stroke hardened, polished steel shaft

www.jrtfa.com m




NF

== . % B 2T o FES 0fABIRCEE 7|EHE Xo|7} Q1S 4= Y&Lct
(=] H = [ = == AA o= M= T M= .
[ T%TI__OHE [ EXplOded view ] 3% This is exploded view illustrates a certain product only. The contents may vary by product models.

Snap Ring
Stopper Ring —
Rod Packing
Rod Cover
0-Ring

L.M Bearing '

% 3

Cylinder Body

Wear Ring
Piston Packing
Rod Packing
Piston
— Plastic Magnet
— Guide Rod
— Piston Rod
— Spacer Collar

Support Frame

Stopper Bolt

316 www.jrtfa.com m



Z=7|% (Ordering Code )

A

Bush
BorS7|S- 284
N-Z2{0|E 24|

BorNil - Ball Bush
N - Slide Bush

Ae2icixz
Bore Size
Product
Name  16,20,25,30

s

H=d

axy
Stroke

NF16:15 - 75mm
NF20:20 - 100mm
NF25:20 - 150mm
NF30: 20 - 200mm

[

257
Shock Absorber

2|5 - 254
DA - ZXaiEfe] rotab}

N-BIZTEEr) Stau)
* HEBol Halsls Sotau Al Y AE
AT HILICH

= S

SQMH &M H|0|X| S

= L

*Note
NF16-M8x P1.0 (ER £ot4Ht 271
[Adjustable type shock absorber is not applicable)

NF20-M10 x P1.0 (=& £0t4H| £7})
[Adjustable type shock absorber is not applicable)

NF25-M12x P1.0 NF30-M14 x P1.5

Nil- Stopper

DA - Adjustable Type

N - Non Adjustable Type

* For the specification of shock absorber attached
to the product and the shock absorber dimension,
refer to details of shock absorber part.

L

DA

l

MMz
Sensor Type

2|5 - WM U BHSES HIZB3R etaLict
RS [Z444) 7124, EAfollAf 24313+ glolol
HAIS (243101 B3¢ SRiLict

= Lo
“HIEO| 3 VksE MM A H FETISE
MAf &M B 0[RS = BRI EL
Nil - Sensor and relevant components are not supplied.

When entering RS(existing method), our Head Office will
attach a suitable sensor selected at its option.

* For the specification of sensor attachable to the product

l

MIAjZ2t
Number of
Sensor

1- 174
27|15 - 274

1-1pc.
Nil - 2pcs.

and the sensor order code, refer to details of sensor part.

HIA & Zo
Sensor Cable Length

257 |2t

Number of

B Absorber

2|5 -1m

3M-3m

5M - 5m

Q] - Z{4IE{ A2

*F{UlE] At A TS 0= HIM
2HA| HO|X|S FZ= sl

1-14
FI15 - 274
1-1pc.

Nil - 2pcs.

Nil- Tm

3M-3m

5M-5m

Q - Quick connector

* For the specification of connector
and availability, refer to details of
sensor part.

www.jrtfa.com m




B H|ZAH ( Specification )

P=27|224(bar] , St=847(mm)
P=Air Pressure(bar) , St=Stroke(mm)

HEHE

Products Name
2|y
Max Stroke
2|23y
Min Stroke
TEIz
Push Power
SrIxey
Pull Power
Z|Cjo|SE
Max. Speed
Z| 2058
Min. Speed
x_”r;.xah

=S o
Weight

HIZES T

Fitting size

1AOIEY 7|2 mEk
Air consumption quantity
ReNale
Repetition Accuracy
Azt

Operating pressure
Fol2e

Ambient temperature
28

Lubrication

15
14.72P
14.72P

200

30

0.5+0.004St

M5
0.3xSt

20
23.15P
23.15P

200

30

0.82+0.007St

M5
0.5xSt

3to7
-5t0 60

L
FO

=

20
37.08P
37.08P

200

30

1.1+0.01St

M5

0.8xSt

Needless

20
49.54P
49.54P

200
30
1.9+0.016St
PF(G) 1/8
1.0xSt

cho)|
NF16 NF20 NF25 NF30 =
Unit

75 100 150 200 mm

mm
N
N
mm/sec
mm/sec

kg

cm?

bar

B NOTE

www.jrtfa.com m




NF-16(N,B)

MAGNETIC SENSOR

8-M4 DPS—\

2x2-05.5D THRU
2xSTROKE+40 ®9C'B DP5

STROKE+10 | 20 2- AIR PORT(M5)

STROKE+50 STROKE
2xSTROKE+84

(M8x1.0p)

®6xP4 AIRHOSE
2xSTROKE+8

NF-20(N,B)

MAGNETIC SENSOR 2x2-®5.5D THRU
2xSTROKE+45 ®9C'B DP5

8-M4 DP7

STROKE+10
STROKE+55 STROKE
2xSTROKE+89

~ROD(®10)

2- STOPPER
(M10x1.0p)

LD(:XCDA AIR HOSE
2xSTROKE+13

www.jrtfa.com m




NF-25(N,B)

2x2-®6.5D THRU
MAGNETIC SENSOR ®11C'B DP

2xSTROKE+48

8-M5DP8

5% DP25

o

STROKE+10
STROKE+60

STROKE

2xSTROKE+94

LDéfoA AR HOSE
2xSTROKE+14

~ ROD(®12)

NF-30(N,B)

2x2-®6.5D THRU
®11C'BDP6

MAGNETIC SENSOR
2xSTROKE+58

2-STOPPER
(M12x1.0p)

8-M6 DPB‘\

STROKE+10

STROKE+70

STROKE

5°9% DP25

2xSTROKE+114

Déxd4 AIR HOSE

2xSTROKE+18

 ROD(®16)

2-STOPPER
(M14x1.5p)

2- PF(G) 1/8 AIR PORT

www.jrtfa.com m





